EARAROBREBRT —5 XN—ZXBISH—F

202218318 (A) 40&EE1H

mc 254 YSR—H% B
[xE&] 1%&:320,000H  23&:102,000W  33#&:58,000M  43%&:38,000MH  5i3&:26,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 )| T1vvyyono v 4 %ﬂfﬁgﬁ’éﬁ 1:(3_2).4 3-3-3-2 | 40.0| — 1 (4_43 gét@i (BEE)
RiIAYYTSwya BIAVUFFHFUR SERIS
< = LI : -8-7- - AliEt (BEER)
217/ 8 | 9DIRIVTISFF 4R by SETI0 404 ° (:3;) ) |55
RiFIVN—0 BIIRIINYS YIRIVT7—L
~ ) —— 8 4 | L3 1:33.9 1-1-1-3 | 41.9| — 3 475 | ROFE (BEE)
3|5/5|7M¥IT= 54.0 m (6) | KBR—E
RIN=YTS5A4 B:AVR—KITLUAR DS
— Ny 44 | N0EEES— 1:34.2 9-9-9-4 | 40.7| - 2 511 | ROXK (BaE)
41811 r—koOv+ 56.0 (1172 (1) |EEE=
Rib—HKOTvvAlL B:h—KIPASVR e =h
oW A, — s 4 | BRERE 1:34.2 2-2-2-1 | 42.0] - 6 | 442 |BIBE—5 RER)
sy 6 EVIYNILZ=T 54.0 (N7 (7) |
RIAEIWN—T B:EVYRAI BT Y R
N = = » s 4 | RFEFFKER 1:34.5 6-6-5-5 | 41.4| — 10 | 435 |MTTEA (BEE)
6 3 ZZ?J??D—Z 54?6 (1172 1) SRR
Ri5TU—=F4 H:2U—-vrO0-X == 7%
© b4 | REEEX 1:35.2 10-10-10-11| 41.4 | — 9 196 | ERAAIZE (BEHE)
711 | OAPLATI—1 ! £52.0 3 by | @ Jr—2rEevay
RiAWTT—II B:UUDL #B) #eI1-RL—vavEEI 7
. — =ETE :35. —11-11- . - BEIIBE—5 (2GR
. S |7o—747 B4 A 1(33/54)3 11-11-11-9 | 41.5 4 (4_053) %”xﬂ_
KRRy I—9)I)YI B:RI—F+R K IH XF
s 4 | FULE— 1:35.9 7-7-7-8 | 42.6| — 7 | 47 |BF (BER)
9810/ FY/DOHTE 54.0 3) (5 |EFHEX
RiIAYYTSwya B:FU—IVITIL [SLnEe]
S = : -5-5- - RO 2EE
N PZPZOIN.Y w4 B iy | e |8 BV sl
RiGATULRY 8:IF )7 Bl 18
3 = it 4 | SHEKX 1:36.2 4-4-4-7 | 43.6| — 8 462 |ROEZE (BHE)
Eﬂ 4| HYRIVZEA %0 a1 4o | EEERD
RRwIA—9III &F:F4—TFEIVR & IE—
@ 1—F—&RIEL
13—7— 5,6,2,4,9,3,10,8,11,1,7
20— — 5,6,2,4,9,3,10,8,11,1,7
30—7— 5,6,2,4,(3,9,(8,10),11,1,7
47— — 6,2,5,11,3,9,4,10,7,8,1
o ILRE
BB 2 160 JA R 2-8 520 % 3E 2-7 1,720 3EE 2-5-8 6,140
B B 2 1409 2-5 360 5 E 2-8 1,390 3EH 2-8-5 18,0009
8 240 5-8 2,370 Ba 2-8 1,300
5 220/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




